S B

Loo— S 5 X =R K Y = {£ C R} le FEpy = E5,
JUFR 5 A=A o— B K (R™, X) AI=s[E], 7k E € Xy rT e

(@) FRFE: 6, R™ C X
(b) AEEE: & Ee s | BC=R\E € %
© FIFIFEE: £ B e S,i e N | B € 5

i=1

i () FTBACE A 5 By € Shi € N () By € 5

i=0
20 RESEN: X =R, a = (ar,...,a,)",b = (by,....b,)T € R, #%
a; <b;,1 <i<n IFa<b

@ FIFRARE: (0.8 = {z €R"a; <z <b,1 <i<nk

39 W% ¢ = {(ab,ab € RYa < b}, EXIEm : € —
[0, +00]((a, b] — m(a,b]), m(a,b] = [ (b; — a;);

=1

4. LN o— KRB B X =R, 42 € = {(a,b]}, W] Tlo— %L o(0)
fif% € C o(€), HAEA A o— A R € C 3, 1] 0(C) C . R
o(€) A € Al o— &

(@ Borel o— {08 o(€) = 8. ATZS[A] (R”, B) F 4 Borel FTHIZA)
R" T4 B € 6164 B HTE R4 Borel TS
i 8=o({(a.b]}) = o({(a,5)}) = o({[a,b]}) = o({FFE):
i, FH BN m(B) = inf{ 3 m(L,), B C [ {R" L#5 7 %£}},
Hop I, IR =
(b) Borel U 2[el: B0 T m (1) Borel ATHZEI (R, 8, m);
i m(p) =0;
i AA AL A A BO;CI ﬁﬁﬂ'ﬂﬁﬁwBi € B,i e N, HEMHH
AL B;NBj = ¢, N m(iL:J1 B;) = > m(By);

i=1

(©) Lebesgue o— fY4: #R B = p = o({z C B|B € g,m(B) =0}Up)
RV 4R 20 B R [ AR T8 8 Lebesgue o— {30 R E € B4
Lebesgue Al £E;



5. U JEE PP o

10.

(@ ¥ E = {z;,i e N} € u,m(E) =0;
® {zo} € pm({zo}) = 0;
© warinte: m(U ) < 3 (B):

d MiEsM:m{E, Cc By CEyC..CE C...llm( E) =
1=1
m(lim E;) = lim m(E;);
11— 00 11— 00
(@ bzt # {E}2, C py... CE; C ... C Ey C Ey, Hm(E)) <

+00, M m(N E;) = m(lim E;) = lim m(E);
i=1 71— 00 11— 00

) # E C pyxog €ER" E+ 19 ={x+ 20,2 € E}, M m(E) =m(E +

170);

AR E: WA f 2 (R p) = (R,B), # VB C R(Borel ulilI£E) A
J71(B) C R*(Lebesgue AIUER), MIFR f > m] il s %L
(@) HEE f: E— R, E € uLebesgue AIINEE), 7 VB C R(Botel AT
8, A f~1(B) C R" j& Lebesgue nJJMEE, WIFK f 2 E _ERY AT oK
48
b) f:E— REMMEE <Vt € R, f1(t, +00) @l f7[t, +00), f~ (—00, 1), fH(—00,t], f(a
R) /& Lebesgue 1] M £E;

JLPALAL: ae. FoR JUFALAL, RIBREFME m({z € E : fi(z) »
f(2)}) = 0 FhIIEB A

EHSUER: B {fu(@)}2, + £ C R® = R, fy(z) € L(E),k €
N HJl Lebesgue R]FH, H. kgr-ll:loo fr(x) = f(x),a.ex € E, {F{E F(x) €
L(E) {#15 |fe(z)| < F(2),a.e.x € E,Vk € N, Il kEToo [ fr(x)dz =

Iz k£r+noo fe(x)de = [ f(x)dxy

B f,g: ECR" = RAN,# f(x) = g(x), a.ex € BN [, f(2)dx =
[ 9(x)dz;

W E C R" j& Lebesgue AL, BREL f : E — R E0[MREL M0k

[fl={9: E > RETMEHR, g(z) = f(z),a.cx € B}, RETT f € [f],
MHER f1, fa € [f. B [ fi(z)de = [}, fo(x)d;



W LP 28 45 1 < P < 400, LP(B) = {[f]: [:E-»RETMERK, [, |f(2)]Pdx <
+oo}. Y P =4, L*(E)={[f]: f:E—-RETMNEH, ZcEfEfz>:o (;@ |f(x)|> <
oo}, BRIATLAIRZETE £ (BREEH f], TAWS (f):

(@ LY JRYEZEE: 1 < P < +o0, X = LY(E). || ||p : LP(E) —
R(f = If1le) [1fllp = (f 1f (@)|Pda)® < 400, 2 P = 4oc, ||
I £5(8) > R = 1l Il = ot (sop 1)) <
+oo. M (L7, || - [|p) REWRIE =S [H];
i LP(E),1 < P < 400 @5e Myu2s ) (2= m):
i 41 <P < oo, LF(E) Zr[4375[0); 4 P = +oo i}, L7 (E)
ST 3 25
(b) LY L7l 23] X = L7(E),1 < P < +oo, B K = R, Ntk
+ XXX = X((f.9) = f+9. (f+9)(@) = f(a) +g(a), Y € B),
B KxX = X((o,f) = af, (af)(x) = af(x),Vz € E), |
(LP(R), R, +,-) Rl 25l

12. Holder X%3%: % f € LP(E), g € LU(E), 142 = LIl [, | f(2)g(a)lda <

([ |f@)Pda)? ([, lg(@) 7). B[ Fglly < [1£1], 9]l
@ % p =g = 2 i, Holder RERIBML T AR
B ¥ m(E) < +00,1 < P, < Py < +o0, 5 L?2(E) c L7 (E);

15, BEEATR: 1 L2 R {1,662, .0, ..} Bt AR

B IEAC T AL



